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SECTION A - PHYSICAL OPTIONS

Answer at least one question from this section, but no more than two.

Theme 7 – Our Changing Coastline

1.	 (a)	 Study the resources below which show the Holderness coastline in Yorkshire.
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	 (i)	 Use the map to give the direction of longshore drift along this coastline.
		  Underline the correct answer below.	 [1]

south westerly                    south easterly                    north westerly

	 (ii)	 The graph opposite shows erosion rates at different places along this coastline.
		  Describe the pattern shown.	 [2]

	

	

	

	

	 (iii)	 Suggest reasons for these different rates of erosion.	 [3]
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	 (b)	 (i)	 Study the photographs below which show different ways that can be used to manage 
coastal erosion.

			   Write four of the following terms in the correct box below each photograph.	 [4]

Groynes                    Sea wall                    Offshore reef                    Revetment

Beach replenishment                    Rip rap                    Cliff stabilisation

	 (ii)	 Describe how any one of these strategies is used to protect the coastline from 
erosion.	 [4]
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	 (c)	 Describe how different processes lead to the formation of an arch.
		  Add labels to the photograph to help your answer.	 [6+4]

		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.

© WJEC CBAC Ltd.

	

	

	

	

	

	

	

	

	

	

End of Theme 7 question

6 4
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Theme 8 – Weather and Climate

2.	 (a)	 Study the satellite image below. It shows a depression which caused a severe storm over 
the UK in February 2014.
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	 (i)	 The rainfall associated with a depression is known by which term?
		  Underline the correct answer below.	 [1]

frontal rainfall                    relief rainfall                    convectional rainfall

	 (ii)	 Give two ways in which the satellite image suggests that there was rainfall as this 
storm crossed the UK.	 [2]
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	 (b)	 In February 2014 this rainfall led to flooding in many parts of the UK as the photograph 

below shows.

		  Use the photograph to suggest ways in which this hazard affected the economy of this 
area.	 [3]
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	 (c)	 Study the map below. It shows the path of a severe tropical storm during November 2013.

The path taken by Typhoon Haiyan (a severe tropical storm)

	 (i)	 Use information from the map above to underline the correct answers in the passage 
below.	 [4]

		  Typhoon Haiyan started in the Pacific Ocean / South China Sea / Sulu Sea and 

crossed over the Philippines just to the north of the city of Samar / Leyte / Manila. 

It then moved in a north easterly / south westerly / north westerly direction 

towards Vietnam. The country which was hit by the strongest winds was Vietnam / 

Laos / Philippines.

© WJEC CBAC Ltd.
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only	 (ii)	 Typhoon Haiyan produced winds of over 200 mph.
		  For a named tropical storm you have studied describe two ways in which very 

strong winds can cause problems for people.	 [4]

		  Name of tropical storm . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

		  Way 1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

	

	

		  Way 2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

	

	 (d)	 Describe how the impacts of named weather hazards can be reduced in different parts of 
the world.	 [6+4]

		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

End of Theme 8 question
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Theme 9 – Living Things

3.	 (a)	 Study the photograph and climate graph below of the tundra ecosystem in Canada.
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	 (i)	 All ecosystems have abiotic elements.
		  Underline the correct answer below which gives the meaning of the term abiotic.
				   [1]

	 the living parts	 the non-living parts	 both the living and
			   non-living parts

	 (ii)	 Use the photograph to describe the landscape of this part of Canada.	 [2]

	

	

	

	

	 (iii)	 Describe the pattern of temperature and precipitation shown by the graph.	 [3]

	

	

	

	

	

	

© WJEC CBAC Ltd.
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	 (b)	 Study the photograph below. It shows cotton grass which is a low growing plant in the 
tundra.

		  Match the following statements to show how the physical environment can interact with 
living things. One has been completed for you.	 [4]

		  The dense flowerheads reduce heat loss	 so that they are insulated.

		  Plants are low growing	 so the soils have few nutrients.

		  Snow covers the plants in the winter	 so it helps to protect them from the wind.

		  The winters are long and dark	 so they are able to survive the
			   harsh conditions.

		  Rocks break down slowly	 so plants have a short growing season.
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	 (c)	 (i)	 Describe two ways in which people use a biome (large scale ecosystem) that you 
have studied.	 [4]

			   Name of biome  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

		  Way 1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

	

	

		  Way 2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

	

	 (ii)	 What is the evidence that the biome you have studied is being used unsustainably?
				   [6+4]
		  Marks for spelling, punctuation and the accurate use of grammar are allocated to 

this question.

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

End of Theme 9 question

6 4
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SECTION B – HUMAN OPTIONS

Answer at least one question from this section, but no more than two.

Theme 10 – Tourism

4.	 (a)	 Study the OS map which shows part of Cornwall which is an important tourist destination 
in the UK.

		  OS map at a scale of 1:50 000. A full key appears on page 28.

© WJEC CBAC Ltd.
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	 (i)	 Give the straight line distance in kilometres between Land’s End and Sennen Cove 

which is in grid square 3526.
		  Underline the correct answer below.	 [1]

0·8 km                      1·8 km                      2·8 km

	 (ii)	 Give two examples of facilities for tourists shown on the OS map.	 [2]

	

	

	 (iii)	 Use the OS map and the photograph to give three physical factors that attract 
visitors to this part of Cornwall.	 [3]

	

	

	

	

	

	

	 (b)	 (i)	 Match each of the following terms to the correct definitions below to identify some 
of the present trends in tourism. There is one incorrect definition.	 [4]

A   budget airlines              B   ecotourism              C   tourist enclave              D   mass tourism

© WJEC CBAC Ltd.

Term Definition

A resort that is separated from local communities

Small scale tourist projects that create money for 
conservation

A place of special interest that attracts many tourists

A cheaper way of travelling to tourist destinations

Large numbers of tourists visiting popular tourist resorts
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	 (ii)	 Read the information below which shows another recent trend in tourism.

		  City breaks in London and Edinburgh have replaced Cornwall as the most 
popular destinations.

		  (Daily Mail 2013)

		  Suggest two reasons why city breaks have become more popular in the UK and 
elsewhere.	 [4]
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	 (c)	 Describe the effects of tourism on the environment in any named place you have 

studied.	 [6+4]

		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.

		  Named place  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

End of Theme 10 question
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Theme 11 – Retail and Urban Change

5.	 (a)	 Study the map below. It shows the location of Cribbs Causeway which is a large shopping 
centre.

© WJEC CBAC Ltd.
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	 (i)	 Which motorway would you use to travel south west from Cribbs Causeway?
		  Underline the correct answer below.	 [1]

M5                      M49                      M4

	 (ii)	 Complete the following sentence which describes the location of Cribbs Causeway.

		  Cribbs Causeway is located in a . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . direction from the centre 

of Bristol and is on the . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . of the urban area.	 [2]
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	 (iii)	 Suggest three ways in which this large shopping centre could have negative 

effects.	 [3]

	

	

	

	

	

	

	 (b)	 Retail or shopping areas are located in different parts of a town or city.

	 (i)	 Complete the table below by putting each of the following statements in the correct 
column.	 [4]

	 A	 Large retail parks have been developed

	 B	 Department stores are a feature

	 C	 There are shops catering for ethnic groups

	 D	 Electrical superstores, DIY superstores and furniture warehouses are 
common

	 E	 There are a lot of pound shops and charity shops

© WJEC CBAC Ltd.
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	 (ii)	 Study the photograph below showing the site of a supermarket.

		  Use the photograph to explain why this is a suitable site for a supermarket.	 [4]

	

	

	

	

	

	

	

	

site of supermarket
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	 (c)	 Read the information below about UK town and city Purple Flag status.

		  Describe how city centres can have advantages and disadvantages for people at night.
	 [6+4]

		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

End of Theme 11 question

© WJEC CBAC Ltd.

Purple Flag is a scheme that recognises excellent management of 
city centres at night.
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Theme 12 – Economic Change and Wales

6.	 (a)	 Study the map and the photograph below.

© WJEC CBAC Ltd.
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	 (i)	 Give the highest point shown on the OS map in grid square 9376.	 [1]

	

	 (ii)	 Other than farming give two land uses which are shown on the map.	 [2]

	

	

	 (iii)	 Use the map and the photograph to explain why farming is difficult in this area.	 [3]

	

	

	

	

	

	

	 (b)	 (i)	 Employment can be classified into different sectors.
			   Complete the table below by putting each of the following in the correct column.	[4]

A   making aeroplane parts                      B   organic farming                      C   teaching

D   coal mining                      E   stacking shelves in an Amazon distribution centre

F   answering telephones in a call centre

© WJEC CBAC Ltd.
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	 (ii)	 For any one activity in the primary sector, describe its distribution within Wales.	[4]

	

	

	

	

	

	

	

	

	 (c)	 Study the graphs below. They show current and proposed sources of renewable energy 
in Wales.
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		  Why might some people in Wales be against developing the proposed sources of 
renewable energy?	 [6+4]

		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.
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End of Theme 12 question
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